Meiosis Notes
What is meiosis?

· The process of __________ the number of __________ in cells used for __________.

Why is meiosis needed?

· Each organism gets __________ their DNA from each __________.

· Without meiosis:

Divisions of meiosis

· Meiosis I

· One __________ cell becomes __________ __________ cells.

· Meiosis II

· Two __________ cells become __________ __________ cells.

Stages of Meiosis I

· Prophase I

· Starts with __________ __________ cell

· Spindle fibers __________

· Nuclear membrane __________

· Homologous chromosomes __________ and __________.

· Crossing – over occurs.

Diagram of crossing over

Diagram of prophase I

· Metaphase I

· Homologous chromsomes __________ __________ along the __________ of the cell.

· Spindle fibers __________ to the chromsomes.

Diagram of metaphase I

· Anaphase I

· Homologous chromosomes are __________ to __________ ends of the cell.

Diagram of anaphase I

· Telophase I

· Nuclear membrane __________

· Spindle fibers __________

· Two __________ cells are formed.

Diagram of Telophase I

Stages of Meiosis II
· Prophase II
· Nuclear membrane __________

· Spindle fibers __________

· Chromosomes __________

Diagram of prophase II

· Metaphase II

· Chromosomes __________ __________ across the __________ of the cell.

· Spindle fibers __________ to the __________.

Diagram of metaphase II

· Anaphase II

· Centromeres __________, releasing __________.

· Chromatids move to __________ __________ of the cell.

Diagram of anaphase II 
· Telophase II

· Nuclear envelope __________

· Spindle fibers __________

· Ends with __________ __________ cells

Diagram of Telophase II

Gender differences in meiosis
· Males
· One __________ becomes __________ __________ cells.
· Females
· One __________ becomes __________ __________ cell and __________ polar bodies.
Why?

· Early embryos need the __________ in the egg to survive.  Most of the __________ of the __________ __________ is transferred to the __________ egg.
· Sperm cells do __________ provide __________ to the embryo, so the __________ is mostly discarded.
